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2. 18 A= “BEDBEMR”, B= ‘Z2HEPBEW”, M= ‘GBI,
B24%1 P(A) =0.6, P(B) =0.5, FflA

P(M)=P(AUB)=P(A)+P(B)—P(AB) =0.6 +0.5—0.6 x0.5 =0.8.

P(AM ) P(A)P(M|A) 1x0.6
P(M) P(M) 0.8

P(AIM) = 0.75
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P(B) = P(A)P(B|A)+P(A,)P(B|A,)+P(A)P(B|A,)
=0.5x0.8+0.3x0.6+0.2x0.05 = 0.59
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P(AB) P(A)P(BIA) 05x0.8
P(B) P(B) 0.59
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P(B)ZZP(A,)P(BI A)=5/9%0.9+4/9x0.3=19/30 ,
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P(BIA)P(A) 0.9x5/9 15
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P(AB)
P(B)

P(AB) _ P(AB)

IEBR: P(AlB) = —=
P(B) 1—P(B)

P(A|B) =

P(AB) _ P(AB)
1-P(B)  P(B)

P(AB)P(B) = P(AB)(1— P(B)) = P(AB) — P(AB)P(B)

P(AB) = P(AB)P(B) + P(AB)P(B) = (P(AB) + P(AB)) P(B) = P(A) P(B)

1
212FH A, B, CE@*EE%%‘B%;, B P(ABC )= P(ABC) , iEBB:

2P(ABC) =P(AB)+P(AC)+P(BC)—1— .
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{EBE: B P(ABC ) = P(ABC) , FFlL

P(ABC ) =1-P(AUBUC) =1-[P(A) + P(B) + P(C)— P(AB) — P(BC)— P(AC) + P(ABC )]
1 .
& P(A) = P(B) = P(C) =;{‘€)\J:EWE';¥IJ

P(ABC ) =1—[%—P(AB)—P(BC)—P(AC)+P(ABC )]
BI85

2P(ABC ) = P(AB)+P(BC)+P(AC)—%.



